Get¥ing Ready For Grade 10
MIXED REVIEW

Complete each question on a separate piece of paper and show all steps of your work.

1. Ewvaluate.
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3. Given the line with equation y = —%I -3,

State the x-intercept.

State the y-intercept.

Graph the line.

What is the slope of the line?
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4. Solve and check. :
a. S5x+3=13 b. 2-4x=6x+12 ¢ 8(dx-2)=48
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Complete each question on a separate piece of paper and show all steps of your work. 3 ‘ 7 ﬂ
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3. Given the line with equation y -——ix-S. /0 2.
a. State the x-intercept. = ( O
b. State the y-intercept.
c. Graph the line.

d. What is the slope of the line?
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